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Solved Examples

1. Find the value of 

A. 

sin 135∘ − cos 120∘

sin 135∘ + cos 120∘

3 − 2√2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PHQJThtWTB4I


B. 

C. 

D. 

Answer: B::C

Watch Video Solution

4 − 2√2

3 + 2√2

2√2

2. If A - B = , then find cos A cos B + sin A sin B.

A. 

B. 

C. 2

π

3

1

2

1

3

https://dl.doubtnut.com/l/_PHQJThtWTB4I
https://dl.doubtnut.com/l/_wuVmzeHmbYYE


D. 1

Answer: A::B::C

Watch Video Solution

3. Find the value of 

A. 

B. 

C. 

D. 1

√3cos 23∘ − sin 23∘

2

cos 53∘

sin 53∘

tan 53∘

https://dl.doubtnut.com/l/_wuVmzeHmbYYE
https://dl.doubtnut.com/l/_C2m8oNlT3EOg


Answer: C

Watch Video Solution

4. If , then  is

equal to

A. 1

B. 2

C. 4

D. 3

Answer: B

A + B = 45∘ (cot A − 1)(cot B − 1)

https://dl.doubtnut.com/l/_C2m8oNlT3EOg
https://dl.doubtnut.com/l/_bTDhDO5rWAeE


Exam Booster For Cracking Exam

Watch Video Solution

1.  can be expressed as

A. 

B. 

C. 

D. 

Answer: A

cot 85∘ + cos 75∘

tan 5∘ + sin 15∘

sin 15∘ + cos 15∘

tan 15∘ + sin 5∘

tan 5∘ + cos 15∘

https://dl.doubtnut.com/l/_bTDhDO5rWAeE
https://dl.doubtnut.com/l/_awMKHYuelXE3


Watch Video Solution

2. = ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

sin θ − cos θ + 1

sin θ + cos θ − 1

1

tan θ − secθ

1

secθ − tan θ

1

cos θ − tan θ

1

tan θ − cos θ

https://dl.doubtnut.com/l/_awMKHYuelXE3
https://dl.doubtnut.com/l/_rfLuomF5ZqPt


3. The value of  is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos 15∘ − sin 15∘

1

3

1

√2

1

2

√3

2

https://dl.doubtnut.com/l/_F0YSFhtNcKAv


4. If , then the values of sin x

are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

8 sinx = 4 + cos x

,
3

5

−5

13

,
−3

5

−5

13

,
3

5

5

13

,
5

3

5

13

https://dl.doubtnut.com/l/_mCIWFulbDjMR


5. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√
1 + sinx

1 − sinx

secx + tanx

sec2 x + tan2 x

sec2 x − tan2 x

secx − tanx

6.  is equal to√
secx − tanx

secx + tanx

https://dl.doubtnut.com/l/_u2nhp9L1z9Ts
https://dl.doubtnut.com/l/_GZYITM5UOfhG


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cosecx + cot x

secx − tanx

secx + tanx

cosecx − cot x

7. The value of  is equal to

A. 

B. 

sin 7A + sin 3A

cos 7A + cos 3A

tan 5A

cot 5A

https://dl.doubtnut.com/l/_GZYITM5UOfhG
https://dl.doubtnut.com/l/_u9k54ZyjIQnT


C. 

D. 

Answer: A

Watch Video Solution

sec 5A − tan 5A

sec 5A + cot 5A

8. Prove: 

A. 0

B. 2

C. 1

D. None of these

secA(1 − sinA)(secA + tanA) = 1

https://dl.doubtnut.com/l/_u9k54ZyjIQnT
https://dl.doubtnut.com/l/_gibv3EhMVjFe


Answer: C

Watch Video Solution

9. The value of is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin 2A

1 − cos 2A

cos ecA

tanA

cot A

tan 2A

https://dl.doubtnut.com/l/_gibv3EhMVjFe
https://dl.doubtnut.com/l/_IwlXm0LF7zce


10.  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

cos4 θ − sin4 θ

sin 2θ

cos 2θ

tan 2θ

sec 2θ

https://dl.doubtnut.com/l/_IwlXm0LF7zce
https://dl.doubtnut.com/l/_KZkztlit4fQi


11. Show that 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

√2 + √2 + 2 cos 4θ = 2 cos θ

2 cos2 θ

2 cos 2θ

2 cos θ

2 cos
θ

2

12. The value of  is
tan 47∘ + tan 43∘

1 − tan 47∘ tan 43∘

https://dl.doubtnut.com/l/_g9d0OKQsxDuE
https://dl.doubtnut.com/l/_tjuegEa9pMi3


A. 1

B. 0

C. 

D. 

Answer: C

Watch Video Solution

∞

−1

13. If

A. 

tanA = andtanB = ,  prove that A + B =
5

6

1

11

π

4

π

2

https://dl.doubtnut.com/l/_tjuegEa9pMi3
https://dl.doubtnut.com/l/_cm2SjsGh5XEE


B. 

C. 

D. 

Answer: B

Watch Video Solution

π

4

3π

2

π

14. The value of  is

A. 

B. 

C. 

(cosA − sinA)
1

√2

cos( + A)
π

3

cos( + A)
π

2

cos( + A)
π

4

https://dl.doubtnut.com/l/_cm2SjsGh5XEE
https://dl.doubtnut.com/l/_VroHq04xjyvK


D. 

Answer: C

Watch Video Solution

sin( + A)
π

4

15.  is equal to

A. 

B. 

C. 

D. 

sin cos − cos sin
π

4

π

12

π

4

π

12

1

√3

√3

√3

2

1

2

https://dl.doubtnut.com/l/_VroHq04xjyvK
https://dl.doubtnut.com/l/_BeStl3aFFS9f


Answer: D

Watch Video Solution

16. Prove than tan

A. 

B. 

C. 

D. 

Answer: A

56∘ =
cos  11∘ + sin 11∘

cos  11∘ = − sin 11∘

tan 56∘

tan 32∘

tan 55∘

tan 40∘

https://dl.doubtnut.com/l/_BeStl3aFFS9f
https://dl.doubtnut.com/l/_xnOLv32V7nwL


Watch Video Solution

17. The value of  is

A. 1

B. 

C. 0

D. 

Answer: D

Watch Video Solution

cos 15∘ − sin 15∘

cos 15∘ + sin 15∘

√3

1

√3

https://dl.doubtnut.com/l/_xnOLv32V7nwL
https://dl.doubtnut.com/l/_xpnH1YJrLw4y
https://dl.doubtnut.com/l/_LwCLXsMVxf0S


18. If  and 

 then the value of  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

tan θ =
x sinϕ

1 − x cos ϕ

tanϕ =
y sin θ

1 − y cos θ

x

y

sin θ

sinϕ

1

sinϕ

sin θ

sinϕ

https://dl.doubtnut.com/l/_LwCLXsMVxf0S


19. If  then the value of 

 is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

sin(θ + α) = cos(θ + α)

tan θ

1 − tanα

1 − tanα

1 + tanα

1 + tanα

https://dl.doubtnut.com/l/_GHHbhIgDwpKb


20. The value of  is

A. 

B. 

C. 

D. None of these

Answer: C

View Text Solution

−
cos2(θ − ϕ)

2

sin2(θ + ϕ)

2

cos θ

cos ϕ

cos θ cos ϕ

21. cos2 45∘ − sin2 15∘ =

https://dl.doubtnut.com/l/_IuAGQKMU6RfT
https://dl.doubtnut.com/l/_Y9IsnqwY4ATo


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

√3

4

√3

2

4

√3

22. If , then the value of 

 is

A. 0

0 ≤ θ ≤ 90∘

−
5 cos θ − 4

3 − 5 sin θ

3 + 5 sin θ

4 + 5 cos θ

https://dl.doubtnut.com/l/_Y9IsnqwY4ATo
https://dl.doubtnut.com/l/_m02fqWyLmO8l


B. 1

C. 2

D. 4

Answer: A

View Text Solution

23. What is the value of

?

A. 

B. 0

cos 10∘ + cos 110∘ + cos 130∘

√3

2

https://dl.doubtnut.com/l/_m02fqWyLmO8l
https://dl.doubtnut.com/l/_8S4gDp7s3hCj


C. 1

D. 2

Answer: B

Watch Video Solution

24. The value of  is

A. 0

B. 1

C. 2

D. 

cos 52∘ + cos 68∘ + cos 172∘

1

√2

https://dl.doubtnut.com/l/_8S4gDp7s3hCj
https://dl.doubtnut.com/l/_JFWmRZo7FtZy


Answer: A

Watch Video Solution

25. The value of  is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

sin 38∘ − cos 68∘

cos 68∘ + sin 38∘

√3tan 40∘

√3tan 8∘

√3tan 12∘

https://dl.doubtnut.com/l/_JFWmRZo7FtZy
https://dl.doubtnut.com/l/_vqMfXwdtqCiO


26. If  then the value of 

 is

Watch Video Solution

cos x = k cos(x − 2y),

tan(x − y). tany

27. The value of  is

A. 

B. 

C. 

D. 

2 cos x − cos 3x − cos 5x

16 cos2 x sin3 x

16 cos3 x sin2 x

16 cos3 x

6 cos3 x cos2 x

https://dl.doubtnut.com/l/_vqMfXwdtqCiO
https://dl.doubtnut.com/l/_ymsajUICLHic
https://dl.doubtnut.com/l/_Huu1RrJ6Aznp


Answer: B

Watch Video Solution

28. A horse is tied to a post by a rope. If the horse

moves along a circular path always keeping the

rope tight, and describes  metres when it traces

 at the centre, find the length of the rope.

A. 40 m

B. 32 m

C. 70 m

D. 88 m

88

72∘

https://dl.doubtnut.com/l/_Huu1RrJ6Aznp
https://dl.doubtnut.com/l/_mY5rKtvixSg4


Answer: C

Watch Video Solution

29. The largest hand of a clock is 42 cm long, then

the distance covered by the extremity in 20 min is

A. 42 cm

B. 44 cm

C. 22 cm

D. 88 cm

Answer: D

https://dl.doubtnut.com/l/_mY5rKtvixSg4
https://dl.doubtnut.com/l/_BFAH6ZcywSmd


Watch Video Solution

30. The interior angle of a convex polygon are in

AP. The smallest angle is  and the common

difference is . Then, the number of sides of the

polygon are

A. 16

B. 9

C. 12

D. 18

Answer: B

2π

3

5∘

https://dl.doubtnut.com/l/_BFAH6ZcywSmd
https://dl.doubtnut.com/l/_gBRYJ8iO6BQr


Watch Video Solution

31. The value for

+1 is

A. 1

B. 0

C. 5

D. 3

Answer: B

Watch Video Solution

2(sin6 θ + cos6 θ) − 3(sin4 θ + cos4 θ)

https://dl.doubtnut.com/l/_gBRYJ8iO6BQr
https://dl.doubtnut.com/l/_9mphmwig66JC


32. The value of

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2 sec2 θ − sec4 θ − 2 cos ec2θ + cos ec4θ

cot4 θ − tan4 θ

cot4 θ − tan2 θ

cot4 θ + tan4 θ

cos 4θ − tan 4θ

https://dl.doubtnut.com/l/_9mphmwig66JC
https://dl.doubtnut.com/l/_mbgGgUjAXbUe


33. if , then the value of 

 is

A. 1

B. 2

C. 0

D. None of these

Answer: A

Watch Video Solution

sinx + sin2 x = 1

cos2 x + cos4 x

https://dl.doubtnut.com/l/_zoLqakd4bie3


34. If 

then prove that 

A. 2

B. 3

C. 4

D. 1

Answer: D

Watch Video Solution

cos ecθ − sin θ = a3, secθ − cos θ = b3,

a2b2(a2 + b2) = 1

https://dl.doubtnut.com/l/_PBu5SYB3cEPa


35. If 

prove that 

A. m

B. 2 m

C. n

D. 2 n

Answer: B

Watch Video Solution

sin θ + cos θ = m and secθ + cosecθ = n,

n(m2 − 1) = 2m.

https://dl.doubtnut.com/l/_hrHI7p12BE1J

